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Instructions: 1) Each question carries equal marks.

Q.1

Q.2

Q.3

2) Attempt any 06 questions
Do as directed.
1) The sun is ------ hottest of all the objects. (a, an, the, no article)
2) Rajesh purchased a rose, ------ orange and a coconut. (a, an, the, no article)
3) He is ---- batsman who made the century. (a, an, the, no article)
4) India is one of ----- most industrial countries in Asia. (a, an, the, no article)
5) My son left for ---- United States last week. (a, an, the, no article)
6) The students were sitting ----- a tree. (at, to, between, under )
7) The father was very angry ---- his son. (with, at, against, from)
8) Rajesh has eaten a mango. (Make past continuous tense)
9) Rahul was growing like a coconut tree. (Make past perfect tense)

10) He died ----- cholera. (of, to, from, after)

Explain the types of paragraph with examples.

Explain the phonemic sounds according to the place and manner of articulation.

Explain the role of language in the world of progress.

What are the phonetics and phonology of language?.

Write the definitions and examples (each two) of parts of speech.

Write a conversation about the benefits of Hotel Management.

Read the following passage and write the answers of the questions below.

Cataract is the major cause of blindness, which is also caused by damage to the
cornea. It occurs more often in old age. As one starts growing old, the lens of the eye
hardens, loses its transparency and becomes opaque. It obstructs the light rays from

entering the eye.
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The onset of cataract blurs the vision. Sometimes, the cataract patient sees multiple
images instead of a single object image. Because of the gradual development of
cataract, the afflicted person loses his/her vision, and the world becomes dark to
him/her.

The development of cataract is a complex process. However, the following factors can
be attributed to its formation. Cataract generally develops in old age but sometimes,
children are born with cataract because of hereditary defect. Eye injuries too, can

cause cataracts.

People exposed to sun rays for longer periods develop cataract earlier than others.
Researchers opine that the smoke inhaled while smoking carries substances internally

damaging the eyes.

Ultraviolet radiation, invisible to the human eye, is linked to skin cancer. The victim

loses vision and the world becomes dark to him.

(1) What is the major cause of blindness?

(2) Why does the lens of the eye become opaque in old age?

(3) How does cataract affect its victim ultimately?

(4) How does one detect cataract in the early stages?

(5) Give any two factors which are responsible for the formation of cataract.

(6) Find the word from para 1 that means ‘that through which light cannot enter’.
(7) Which type of cancer is caused by ultraviolet radiation?

(8) When does cataract generally occur?

(9) How is smoking responsible for the development of cataract?

(10) Give suitable title to the paragraph
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